SIDE  CHAIR

ASSEMBLY INSTRUCTION

1 OF 3




ASSEMBLY INSTRUCTION

ASSEMBLY TIPS:

ASSEMBLY INSTRUCTION

1. Remove hardware from box and sort by size.

2. Please check to see that all hardware and parts are present prior to start of assembly.

3, Please follow attached instructions in the same sequence as numbered to assure fast & easy assembly.

AWarning!

1. Don’t attempt to repair or modify parts that are broken or defective, Please contact the store immediately.

2+ This product is for home use only and not intended for commercial establishment.

PARTS [DENTIFICATION z HARDWARE  PACKAGE
NO FIGURE DESCRIPTION |Q'TY
A SEAT | WRENCH MM ﬁi‘”ﬁiﬂ {PC
2 LONG BOLT® 14" DALX1-34 16PCS
2PCS : 6 I
3 LOCK WASHER ® 114" DAL @ 24PCS
B BASE
4 FLAT WASHER® 1/4" DAL @ 24PCS
2pCs | 5 | SHORT oo pALXa' | I YIINDUREND | 8PCS
¢ LEG /M(_r 5 _ 6 | WOOD CAP®13.5 @ 8PCS
8PCS

NOTE : QUANTITIES SHOWN ARE FOR TWO CHAIRS

2 OF 3




ASSEMBLY INSTRUCTION

STEP 1

—@

Step 1: Put seat upside down on soft nonabrasive surface, bolt legs to seat by using (#2) long
bolt,(#3) lock washer,(#4) flat washer and tighten with (#1) wrench. Set base inside the legs
aligning the holes, using( #)5 short bolt,(#3) lock washer,(#4) flat washer and tighten with wrench.
Final put (#6) wood cap into (#5) short bolts cap only by hand tighten.

30F3




